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iz Bl = B | E4 1 = LS| & 4
1 {41 loEns AE [ANEBEER 1,915| 7,198,085
2 |4 1 [osne AE [BASSTLUMR 990 7,197,095
3|41 [eENBAR £% TGSl RS SMeRRA RO | 3000| 7,194,095
4|41 paumAn P2 |[IRE T T BONSReERAGES | 3000[ 7,191,095
514 E17 10.E5%% FZ [HVULR4AD 3,656| 7,187,439
6 |4 5sEumMAR FE |3AARRFMA 1,311] 7,186,128
7 | 4 2 |l0nnR FE [3AsssEEs 2,576| 7,183,552
8 | 4 26|10%ne F® [8ARSTLuM 1,980/ 7,181,572
9 |4 1 |eEBmAR i [Ts T T RS RReRRA (RS | 3000] 7,178,572
10| 4 158 BHEAR B |BANEHEL (S5H654A~50) 2,750| 7,175,822
11 7116 s EHBAR B |BAKEHML(SH6E6A~8H) 4,125| 7,171,697
129 14/sEEEAR B |BRKESML(SR6EoA~11R) 4,125 7,167,572
134 1 [losnE Bt [aHHEEEER 2,574| 7,164,998
14 4 1 [10EHE HE [SARFTLuME 990| 7,164,008
15 | 4 30 |108nE Bt |4BHEREER 2,574 7,161,434
16 | 4 20|0sm B |4E55TLYME 988| 7,160,446
17| 531 |10smn B |SHAMEERER 2,134| 7,158,312
18 | 5 31|10EH" B [5SA5STLYME 990{ 7,157,322
19 7‘»’ 1 [10.EHBE Heh 6B EREER 2,134 7,155,188
201 7| 1 [10.E%E B |6AS4TLvMME 990 7,154,198
21| 7 81 |0®HR B |7 ASEHEER 2,134 7,152,064
22 | 7 31|10 558 B [7TASETLIM 990| 7,151,074
23 |9 2 [oEER Hi |sEoE#EER 2,574| 7,148,500
24| 9| 2 [10.EHE HE [8ASK4TLYME 990| 7,147,510
25 | 4 | 10|10EBE WE |sEHEeESs BEEn 4,274 7,143,236
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28 m| = 2 1 = LHEH | B B

2 | 5 10]108H8 WS [4AHEERE BEEE 4,735| 7,138,501
27 | 6 10 {10.EHE W |sAoMwEE ErEs 4,269 7,134,232
28 | 7| 10108 %% WS |68 HHARE BXEE 4,324| 7,129,908
2 |8 13|0EHn WE |78 5meES BRRE 4,300| 7,125,608
2 | 9 | 10]i0snn WE 8B HHHES BERE 4,764/ 7,120,844
31 [10] 10 [o®Ha WE [oRnmwEs BERE 4,284/ 7,116,560
32 | 4 12|s mHmAR wg (FRCBAGRARBER~BAREN | 7000| 7,109,560
33 | 5 20 [smBBMAR wg |TREMLMMROXRGA BEEEY | 3930| 7,105,630
34|90 2 |smEmAR wg (ERUBAGRARNER~BMAREN | §213] 7,099,417
35 | 9 |25 |6 ERAR WS |4A~eRmmR 20,550| 7,078,867
36 | 4 22|0EHR Ll i e g 6,874 7,071,993
37| 5 18|0snn R[S0 e 00 b R 1 6,908| 7,065,085
38 |6 20|10FHRE 2R |gh g s b BIRRE- A 6,900| 7,058,185
30 | 7|17 |osme =@ |[R2ERRE STl b ERRE 6,886/ 7,051,299
0|8 160gHR RE |02 e STl ERRE A 6,923| 7,044,376
a1 |9 19 |0BHR RE |3 gt o b ERRE A 6,949/ 7,037,427
42 |10 19 1055 RE |y e STLYHERRIEAY | g 046/ 7,030,381
43| 9 27 s EHBAL R |48~ B LD 9,600 7,020,781
44 | 5 |15 B EHBAR R |48 ~25%83A9 RERML 9,000| 7,011,781
45 | 5 15 B EMBAR R |48 ~25%53 0 ARRER 26,562| 6,985,219
46 | 4 25|10%HR R |4BHHVILME 2,000/ 6,983,219
47 | 5 17[10.EHE RME [BASHVILR 2,400| 6,980,818
48 | 6 12[10BHR RE |6ASHVULK 2,000 6,978,819
49 | 7| 28 |10.BH5E RE |[7TARAVIIR 4,400| 6,974,419
50 | 8 | 18 |10.BH% RE [8ANAVULK 2,000| 6,972,419
51| 9 30[10.EHE RE [SARHVULA 4,000| 6,968,418
52 | 8 28 |10.EBHE e 18RHHVILR 3,259 6,965,160
53 | 9 | 18|10 EHR Hip JeRRHVULK 3,124| 6,962,036
54 | 9 28|10 %R LIRS (BHABHK 3,802| 6,958,234
55 | 4 24 |10EHR RE |4RSAHVILR 4,051] 6,954,183
5 | 5 27 |10BHKR RE |BRAGHIMAR 4,417) 6,949,766
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28 8| = 23 i# XHeW| KB

57| 6|27 10EHE AE [6BRAVILK 4,076/ 6,945,690
58 | 7 16|10.E%E KA |7ESHVILR 2,933| 6,942,757
59 | 8 |26 |10.BHE AE 8BHHAVULK 3,357| 6,939,400
60 | 9 | 25|10 %R AE [oBsAVILK 3,520| 6,935,880
61 | 10| 28 [10.E#E AKX [10AmHVILK 4,268 6,931,612
62 | 4 30 |10EBE AE |4BHHEEER 1,915 6,929,697
63 | 4 30|10%EHE AK [4BSETLME 990/ 6,928,707
64 | 5|31 |[10.EBE A& |sAsEBEER 1,914/ 6,926,793
65 | 5 31|10EBS AE [SASSTLME 990/ 6,925,803
66 | 7| 1 [l0EBE A& |emasmwEEt 1,914/ 6,923,889
677 1 |oEne AK |6BHETLuKE 990/ 6,922,899
68 | 7 |31 |10.EnE AE |[TASESEER 1,914/ 6,920,985
69 | 7 31|l0EnE A& |7TEHETLME 990/ 6,919,995
70| 9! 2 loEnE A% |sEamEEE 2,305/ 6,917,690
7119 2 |0EEE A% |8AHETILYME 990/ 6,916,700
72 | 9 '30|0EHmE AE |9BSEEBER 1,914 6,914,786
73 | 9 | 30 |10E%E AK [9BBETLuME 990/ 6,913,796
74 |10 31 [10.EHE AE [10AHEHEER 1,914| 6,911,882
75 {101 31 {[10.BHE KA [MORSETLYM 990; 6,910,892
76 |12 2 [l0EHR KA |11 AR EREER 1,914| 6,908,978
77 |12 2 [ozna RE [11AHFTLUMR 990| 6,907,988
78 | 9 | 30|10EHE Mt 0B HEBEER 2,134/ 6,905,854
79 | 9 | 30|l0EnRE B |9BSFTLuME 990/ 6,904,864
80 | 10 31 [10.EB%E Hh [10BEHEER 3,454 6,901,410
81 | 10| 31 [lo.=58 M [10A85TLuk 990/ 6,900,420
82 |12] 2 [l0EKE B |11 EEEER 2,574| 6,897,846
83 |12 2 [loEBE Mt |11B84TLukt 990/ 6,896,856
84| 9 1510558 Bt |oBRAVILAK 800/ 6,896,056
85 | 10 15|10 5% Ed [10B8AVILR 1,200| 6,894,856
86 | 4 25|10.B%R EN 455 WEEER 3,197| 6,891,659
87 | 5|27 [10.B5KE Fl [5AyH EREER 3,248 6,888,411
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2R R = B4 i = XHeH | & B

88 | 6 | 25|10EHR Bl [sAn mEEER 3,245/ 6,885,166
80 | 7 | 25108 %% BN 1A% EHBER 3,193/ 6,881,973
% | 8 26|105% Bl |sA5 HEEBER 3,206/ 6,878,767
o1 | o | 25|108%E Bl |oRs HEEER 3,206/ 6,875,561
92 |4 25 10558 El |[4B~3B% HTLvMERN 11,895| 6,863,666
03 | 4 1 |1EMERSR Bl ARG aE—f 562| 6,863,104
9 | 4 30 |7 MMERR BNl SAXHLS aP—K 508| 6,862,596
95 | 5 317 &MERR Bl [6A%HLS aE—R 538| 6,862,058
9 | 7 1 [1msem BNl 1AZHLS aE—f 537 6,861,521
97 | 7 f?31 1TERHERE FNl [sAXILS aE—K 387/ 6,861,134
9% 9, 2 TEHERE FN [oAXILS a—i 165] 6,860,969
9 | 4 8 |[0BHR BNl |45 EEBERRUALI—Aohit 2,476/ 6,858,493
100 5 7 10.E5BE Fll 8RS BEBERRUALS—RuMME 2,437| 6,856,056
1011 6 | 7 [10.EHE FH [6A9 BEREERRUALI—RIb 2,440} 6,853,616
102] 7| 8 [loB%% Bl 1A% BERERRUASS—Foh 2,450| 6,851,166
103] 8 | 7 |10%%% Bl [8A9 ERBEKEUAS—Foki 2,437| 6,848,729
104 9 | 9 [1OEKE Bl [oR% EEBERRUALI—FUM 2,447| 6,846,282
105| 4 | 25 B AMMAR BNl [4B~6B5 HER 23,025/ 6,823,257
106 7 26 s HHBAR BN [1E~oA% HEK 23,025| 6,800,232
107(4 5 [10EER BNl |4R% Huusk 3,288 6,796,944
108] 5 3 [10me Bl [sE% AUk 5,941 6,791,003
109 6 7 [10BHR BN [sBH HUuLk 3,536/ 6,787,467
10| 7 | 151055 Bl 1A% AVULR 3.693| 6,783,774
11| 8| 1 [losBR Bl (85 AUk 3,690| 6,780,084
12| 9 11|108HR Bl [oAs AUk 3,555/ 6,776,529
13| 8 & |7 mpemn B |=e—iy — =8 4,059| 6,772,470
1411 1 3wz T 13,030{ 6,759,440
15 10; 5 [l0sBR M 1085 HUusk 7,310/ 6,752,130
116 11| 15 |10. %R He [11AS HVULK 4,428| 6,747,702
117 12| 15 10558 He 1285 Avussr 3,695| 6,744,007
18] 1 | 4 lo=KE " [1BS Avusk 8,229| 6,735,778
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228 8| = R4, f 3 KHAE| %

19| 2 14]105HE M 285 HUULK 4,200/ 6,731,578
120] 3 | 10|10 5% M 3RS AvULK 4,128 6,727,450
121 4| 7 [loEHE WD) [4BS ALk 4,185| 6,723,265
122| 5 | 8 [l0.8%E WD) 585 HUULR 4,000/ 6,719,265
123) 6 | 2 [10EBE R 685 AUk 4,800| 6,714,465
124 7 7 [logBE D) [1B9 AUk 6,000| 6,708,465
125| 8 | 10|10.35mE (D) [sE9 HuuLk 5,200| 6,703,265
126| 9 | 4 |1ommE #D) oms Huuk 5,200| 6,698,065
127 10| 24 |10 5% HB) 1085 Auuste 4,000| 6,694,065
12811 1 |18 HD) (1189 Aok 5,200| 6,688,865
12912 1 [t0®H HB) (1289 Avusik 5,200| 6,683,665
130 1 3 |10EHE B [1A8 AUt 6,000| 6,677,665
131 2 1 6 [l0mHE H(B) 285 Housk 4,000| 6,673,665
132] 3 | 3 [10EHR H(B) [38% HVUL 7,200] 6,666,465
133 4f 1 N0ERE H(B) BAS EBRUEAZHLY 3,247 6,663,218
134] 4  30|10EKE H(B) [4B5 #mBK 3,245/ 6,659,973
135| 5 | 31 [losHE H(B) [5B5 mBR 3,234/ 6,656,739
136 7 | 1 [1o=%E H(B) (A5 BBk 3,234/ 6,653,505
197| 7 a1 |10%m W) 1A sHe 3,261| 6,650,244
18] 9 | 2 [losHe WS [8A5 smEw 3,287 6,646,957
139 9 30|10 FHR (B 9Rs mEK 3,245/ 6,643,712
140/ 10| 31 [10B%% H(B) (1085 HHK 3,239/ 6,640,473
141] 12, 2 [08HR (B |11 mER 3,243| 6,637,230
1421 1 6 |10.EKR H(B) [12859 #EK 3,234 6,633,996
143 1| 31 [10B %% H(B) (1A mEk 3,234| 6,630,762
144 2 | 281085 WS 285 sk 3,252| 6,627,510
145| 3 31 |10.EBR B (385 mEk 3,237| 6,624,273
146 5 | 15 {10.FHE F(F) |BB4BR 9D BEEEZERGBEIILY 1,462| 6,622,811
147| 7 | 16 |[10.5E%& () [5HeAS BEBER 1,470| 6,621,341
148| 9 | 1710558 (D) 7H8ESH ERBER 1,466/ 6,619,875
149 | 1115 10758 (D) [9sA1085 BEESER 1,494| 6,618,381
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150 | 1 15|10%HH H(B) |1A12AS BESER 1,466/ 6,616,915
151 3 17 |10E%% (B (18284 EREEK 1,463| 6,615,452
152 1 | 21 3IE®E H(B) |[TREsE B 182,424/ 6,433,028
153 | 1 | 31 [sE5% KB |[FEBEE FHIUR 8,800/ 6,424,228
154 2 10 [3L8BE () |TEREBEE U—TLut 11,416] 6,412,812
155| 2 | 10 35858 WD) [HRESE RAXK 6,248/ 6,406,564
156 | 2 10 |3.58%E H(B) [HREEE HER 8,232/ 6,398,332
157| 2 | 10 [s/RsE H(B) [HBBEE vol5 6,248/ 6,392,084
158| 4 | 5 [10EBR (D) [AMOUTRLE—R 627| 6,391,457
150| 6 5 [10EH%R W8 |[Fuss—quoi 3,102/ 6,388,355
160] 1 | 29 [10.E%E H(B) [Furs—1oo4t 1,881] 6,386,474
161]10 | 15 105 %B H(B) [sES—Lf 324/ 6,386,150
162| 1 | 20 [10.5%R W(B) [sEs—ip 1,031| 6,385,119
163 1 21 [10.EHE () |mEL—LK 865/ 6,384,254
164 4 10{10.EKE W(B) [3B~284% 4B ~3BXHLY) small pdf 4,455] 6,379,799
165| 6 | 10 [10.EHE () |h—bR—SL oSty S 15,698 6,364,101
166 4 | 4 [8EHBAR Wb BB EAGERORRHRE 1,760| 6,362,341
167| 4 | 4 s ANBAR e [BERTRT—b-RZa—n\UFTuy) 850| 6,361,491
168 | 4 13 10558 Heh |4B8 HVuLR 2,000/ 6,359,491
169 4 20 |10BBmE W [aE% HUULK 1,992/ 6,357,499
170 | 4 29 |8 EHBAR M [ BERTRER PELLKEEOE] 1,650| 6,355,849
17110 8 | EHEAR b |SBATHREL 2RI RE) 1,064| 6,354,785
172| 5 ' 8 [losHE M |4B~8H% UIMITTMicrosoft365)HE 6,364/ 6,347,921
173| 5 | 18 |10 B H%E i [sEs Huusk 1,200| 6,346,721
174 | 5 | 29 |10 6 %8 M |5ES HUULK 3,210| 6,343,511
175| 6 | 21 |10 B %% b 6B HuuLK 3,144/ 6,340,367
176 | 7 7 (10558 M |7ES HUuLK 2,952| 6,337,415
1771 7 |19 [10.E%E M (7RSS AVULR 2,000| 6,335,415
178 | 8 | 3 ll0EBE e |sBs AUk 3,146/ 6,332,269
179 | 8 | 10 [10. 8% M [8E5 HuULR 1,968/ 6,330,301
180 | 8 | 20 [s AMIBAR e |EEHE B4R OB TR (BD) 9,405/ 6,320,896
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181 3 26 |a/kiRR M |mEELY et 154,638| 6,166,258
182| 3 | 27 B EMBAR g [ZETIYT WRRTEMIOIE-RM- | 35 380| 6,133,878
183 3 | 30|10 %5%: He [sA% Ausk 2,720| 6,131,158
184 4 30 s HMWAR Hib [aR~385 REFMK 14,418] 6,116,740
1851 11| 11 [10.EHE WE |10ASEHES ERESR 4,326| 6,112,414
186 {12 10[{10.HE WE [MASEHEE-BEER 4,856 6,107,558
187 | 1 10105552 WS |12A5880E BEEE 4,414/ 6,103,144
188 | 2 | 10|10 858 WE |1 BAREESE BEEE 4,435| 6,098,709
189 3 10|10 0%% WE |2BHBwEE ELEE 4,430{ 6,004,279
190| 3 | 25 s EMMAR WS 108 ~3A%mI® 21,375/ 6,072,904
191 3 | 30 a5 WE [RERESSRR 92,000/ 5,980,904
192 3 18 35 WE [FEESETI 125,400| 5,855,504
193 3 | 25 [anEE WE BT 54,912 5,800,592
194 ] 3 | 26 [3/ERE WE |[MERBERER 992| 5,799,600
195| 2 | 25 |BILHE WS [PRERESEHER 34,320 5,765,280
196 | 1 110 e 5 (ED) ;1%5;1/17%3;’%%%(-7-’:)9;141‘7‘(:;6%2% 93.740| 5,671,540
197 1 10 [1iEEHRE wE g VTRRER(FISLFEONE | 93 500| 5,578,020
198 1 | 10 |1 SAEH%RR Fig |y /RIRAR(TISLTISEOME | 93 740| 5,484,280
199 | 1 10|1BAEHEE BN (YO TERERTISLTEESME) 96,670| 5,387,610
200 1 | 10|1AERRE RE (g, | ERER(TISLEIEONE | g1 960| 5,206,350
201 | 1 10 [1FEHRE WE |y (VERER(TISLFESEME| 93 750| 5,202,630
202 1 101BEFRE R gy, [ ERARTISLTELONE| 93390/ 5,100,310
203 | 1 1‘10 | EERES - ggﬂ/t7%5)?&#%%(%‘*)5?)&!?!:4:6@% 93,760| 5015550
204 | 1|10 1 BERRR W) | i TRRER(FISLTISERMR | 93 900| 4,921,650
205 | 1| 10 |1 AR g |0 TERARTISLTISENEA | 93.920| 4,827,730
206| 1 10 |1 AEHRR T YRV TRRERTISLTIESMER | 93 840| 4,733,890
207| 3 | 18|a ks LIRS |HEVTHE RIGEEVOLI2 BRAH 240,336 4,493,554
208| 1 31 (3EHE KRS |HOLTH RIREEVOLI2 M 598,450| 3,895,104
209 1 | 31 BIEHRE RIRS |#o0THE KREEVOLI2 BIRIK 624,393| 3,270,711
210 1| 6 [10BHR KK 128 98BEER 1,914| 3,268,797
21| 1 6 |10BBE KA [12ARFTLIME 990| 3,267,807
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28| = R4 1 = XieE | & B

212| 1 | 31 [10.E5mE A& |1AnsEEEs 1,915 3,265,892
213 1 |31 [10. 558 RE [1BSFTLUMME 990| 3,264,902
214| 2 28|10 8H% KA |2AnsEEER 2,809| 3,262,093
2151 2 | 28 |[10.EEHE AKE |2B94TLukg 990( 3,261,103
216| 3 | 31 |10 BHE A& |sAsnmEEER 2,654| 3,258,449
2171 3 | 31 [10.EHE AKX |BASSTLYME 990/ 3,257,459
218 | 11 12 [10.EH%E AKX [1T1BRHAVYLE 2,882| 3,254,577
219 | 12 27 [10.5HR K& [12BHHVILR 4,048| 3,250,529
2201 1 27 [10.BHBR KX [1ARAVIUK 2,215] 3,248,314
221| 2 | 13|10 BHmE KK |2EAAVILR 2,800| 3,245,514
222| 3 31 |10.EHKE RE [BEHAVULAL 4,760| 3,240,754
22312 30 [s BHBAR KA |6F48~12 ARMEFRK 5,760| 3,234,994
224| 3 | 13 2B AR |[FELBERRA(DE——EHER 104,610 3,130,384
225] 10| 3 [10.BHR A& |rvask 143,440| 2,986,944
226| 3 29 |8 AHBAR H(E) |4B~7E3A 9 EBHRK 9,000| 2,977,944
207| 5 22 |snmE W) [ HESE RS 47,688| 2,930,256
228 12’ 4 aEmE W) |REBENBESERR 44,000| 2,886,256
229 |12 4 [3E%E RO MBS S 33,622| 2,852,634
230| 3 28 3E8R W) |TREBEHBREARR 61,600 2,791,034
231| 3 28|k W) |HRERER Y 38,060| 2,752,974
232| 12 1431583 W) |TESES S8R 16,000{ 2,736,974
233! 3 ;‘zs IEHE B(E) |h—bi—CEMEER 16,500| 2,720,474
234| 1| 6 [10EHE B 128 HEEEER 2,134 2,718,340
235 1| 6 [10EHR B [12A55TLub 990| 2,717,350
236| 1 | 3110858 B |1ESeEmER 2,574 2,714,776
2371 1 {31 |10EHKE Hf [1BH47L vt 990 2,713,786
238| 2 28[10BHR B (2B S BEEER 2,134| 2,711,652
239 2 28|10 HE B [2895TLuM 990| 2,710,662
240 3 | 31 [10.5 5% M |3ASREEER 2,574| 2,708,088
241| 3 | 31 |10EHE Bd [3E55TLUME 990| 2,707,098
242 12;30 10EBE B |[12B8HVUVR 1,200} 2,705,898
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2431 1 29 [10O.EHBE B [1ASHYYLK 3,600! 2,702,298
244| 2 | 10|10 5 %B B |2B8AVULK 2,400| 2,699,898
2451 3 | 18 |10.EBE B [BESHVYLR 800] 2,699,098
246 | 1 23 (s EmHBAR Bt |BAREHEL (128 ~857528) 4,125| 2,694,973
247| 3 |25 |8 AMBAR B | BARERET(SH7E38) 1,375 2,693,598
248 | 12 30 |8 RBMAE BE |BREEERBES 45 ~SM7E3A) 2,400/ 2,691,198
24910 25 |10.5HE BN 1085 mEEER 3,192| 2,688,006
250 | 11 25 [10.EH%E Fi [11BS EHESEA 3,193| 2,684,813
251 |12 25 [10.E 5% BN {1285 wEEER 3,163| 2,681,650
252| 1 | 27 10558 Bl |189 SHEER 3,147| 2,678,503
2531 2 25 {10.EH%E EFIl 2B8 ERTER 3,180| 2,675,323
254| 3 25 |10.EHE BNl 35 EEEER 3,166/ 2,672,157
2551 3 125 [10.EKE Fhl 110B~38% 4JLvrERR 11,896| 2,660,261
256 | 9 | 30 |7 %8 ER R B 108G aE—k 172| 2,660,089
257 10| 31 |1 804 Bl |HARBLS TE—R 165/ 2,659,924
258 12, 2 |1 @MERE BN |[2BxH0s aE—R 165/ 2,659,759
259 | 1 6 |1EBERR BN IERHLS TE—R 165/ 2,659,594
260 | 1 31|1&MERR BN 2BRHBLS TE—K 165| 2,659,429
261 2 28 |1EBERE Bl [sAZHLS ar—K 811| 2,658,618
262110 7 N0O.ERE FNl [10A% BREFBRRUIUF—RubME 2,434 2,656,184
263 11! 7 [10O.EHE FiN [11Bn BREEERRUA L 2—3ybt 2,434 2,653,750
264 12| 9 |10EHH Elil 1289 EREBERRUALS—RuME 2,448| 2,651,302
265| 1 | 7 [loEns BNl 155 BREERRUALI—AuME 2,455| 2,648,847
266 2 ‘ 7 10ERE FiI [2B9 BREEZERRUSVE—RubME 2,448| 2,646,399
2671 3 7 [10.EEE Fil 3B BREFERRUIVE—RurME 2,434} 2,643,965
268 | 10 25 |8 AMMAR B |10A~128% #EAR 22,725| 2,621,240
269| 1 25 |8 EHEAR Bl [1B~38% K 23,550| 2,597,690
270110 4 [10.EHBE EI [10B% AUk 3,446} 2,594,244
271 | 11| 11 |02 H% BN |[1ES AUk 3,711| 2,590,533
272 12‘ 1 10OEBE Fi 285 AR 3,738| 2,586,795
273 TE="1" BN 1R HUuLR 1,897 2,584,898
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2 5.m| = B4 1# = XHeHE| & B

2741 2 | 2 10O.EHKE BNl 2Be AUk 3,843 2,581,055
275| 3 | 7 [loEnE Bl [sAH AUk 5,646| 2,575,409
276 | 3 3 [3nEEmE Bl |h—bn—smEm 33,000| 2,542,409
2771 2 | 10 3. K8% EI OGBS L 0EIRBIK 14,751 2,527,658
278| 3 10|10.EH% S5 [BER 36,814/ 2,490,844
279 SRS |RE 0| 2,490,844
280 | 3 . 24 3JEEE A |mREIYsEY 49,500 2,441,344
281 | 3 | 27 [arnsg® RA |BRrLyzEmstEER 23,870| 2,417,474
282 | 3 | 28 |3 /K% B |BRELUBRIR 41,580| 2,375,894
283 | 3 31 [|3E#E Be |[BeLIUSRZARHLL—A(TZ—TY) 8,463 2,367,431
284 3 | 26 358 me |Bariuszs 192,198| 2,175,233
285| 3 | 24 [sEMEAR ®H |108~$57538 LOFMA 9,600| 2,165,633
286 |12 30 [s @HMAR B |BARBERERY (48 ~2507538) 2,400| 2,163,233
287110 16 |[10.B5%8 ZE [10BSAHVILR 2,400| 2,160,833
288 | 11 27 |10.B B %E |[11B8HVULR 4,796/ 2,156,037
289 12@22 10.5%KE ZE [12B8HVILK 2,598! 2,153,439
200| 1 28|10BH5% ZE [1ERHVILK 4,968| 2,148,471
201| 3 24|10%BRE RE [3RAHVILK 4,807| 2,143,664
202 | 11 21 |10 %% RE | AERRESTLIGERRE Y | g 995 2 136,339
20312 21 |10 EBR R |y o e ST EREREA | g 449] 2 129,190
204| 1|20 [10BHR 2E |20 EPRESILNERRE A | g 186] 2,122,004
295 2 20 [10$HR RE |y o STy BREE 7,048 2,114,956
206] 3 10|10FHR RF [2AH4TL ok EREHE- 15— Rob 3,681 2,111,275
207| 2 10 |3 BB R |HRESEHERR 297,000/ 1,814,275
298| 3 | 31 [asRm RE | RREEEHR 3.861| 1,810,414
20| 3 | 25 |e AHBAR T |4R~4R7EsBLOSMA 19,200 1,791,214
300| 3 |25 [s HHMAR TH |4R~sH7560 BEHEK 25,800| 1,765,414

‘

301 |11 25 |10.57%% TA xR 3,990| 1,761,424
202| 3 | 24 s TA | A (80.0002) 273,220/ 1,488,204
303| 1 |25 |8 EMBMAR TH |SSERTESELEOOK) 792| 1,487,412
304| 5 | 14 8B EMBAR FE [4ASBEFER 1,311} 1,486,101
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305| 6 14 |8 EMBAE Fi& |SAZBREHER 1,311} 1,484,790
306 7 4 18 8 AHEAE Fig& |6RA/BEmMR 1,311] 1,483,479
307 8 ;23 BEMBAR F# |7AZBREHMK 1,311] 1,482,168
308| 9 | 208 EXMBAE Fi# |sASRxHmER 1,550| 1,480,618
309 (10 11 |8 EMEAR FE |oASBEFMK 1,550{ 1,479,068
310 11| 20 |8 EHEAER FE [10B2.11BSREFMR 3,100{ 1,475,968
311| 2 14 |8 EHBAR FE 12891 Ao REHEK 3,100/ 1,472,868
312{ 3 | 11 [s EHMAR FE |2ARREHFMK 1,550| 1,471,318
313| 5 22|10EKE FiE |[HUULKEES 3,095/ 1,468,223
314 6 8 [10FEHKE FE [HVirKess 3,347| 1,464,876
315| 7 | 19|10 E#%%& FE [AVILKRTIBES 3,665] 1,461,211
316 8 | 23|10.EBH%#E FE |HVULKeBH 3,176/ 1,458,035
31710 12[10.EHE FE |[HVILK10B8% 7,436] 1,450,599
3181 11 20 10 EHE F2 |HVIoR11B8% 2,850] 1,447,749
319112 9 [10.E=HE FE (HVULRI2AS 3,306/ 1,444,443
3201 1 21 10.EHE FE [HVIVKRIBS 7,012} 1,437,431
321 2 25 |10%BE RE |AvULR2AS 3,578 1,433,853
322 3 ‘17 10.E5E F& [HVIUKR3ES 3,703] 1,430,150
323| 5 | 27|10.2%E FE |4 ANBHERER 3,238] 1,426,912
324| 5 27[10.B%% FE [4A958TLYMR 1,980] 1,424,932
325| 6 26 |10EHKE FiE |5 ANW#HEHER 2,357\ 1,422,575
326 6 26 [10.EHKE FZ& [BAR%TLuME 1,980 1,420,595
327 7 | 26 10 BHR FR |6 BAmBEEN 2,621| 1,417,974
328 7 | 26 |10.EHKE FiE |[6A24TLYME 1,980 1,415,994
329| 8 26 [10.EHE FE |7 ANSHEER 3,032| 1,412,962
330 8 |26 |10.BH%E Fg |[7TES5TLubM 1,980{ 1,410,982
331| 9 | 26 [10.EHE FE |8 ASEHEHER 2,172| 1,408,810
332| 9 | 26 [10.BHKE F& [8A44TLuME 1,980| 1,406,830
333|10 28 |10.HHR FE |9 ANBHEEER 2,847| 1,403,983
334110 28 |10 B H# FE |9ApsTLYM 1,980/ 1,402,003
335 11 26 |10 FHR FE |10AsmmEE 2,924| 1,399,079
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336 | 1126 [10.EHE FE [10AZ8TLubK 1,980 1,397,099
33712 26 |10.E%E FE |11 A%EER 3,543} 1,393,556
338 |12 26 |10.B%R FE |[11TARSTLUr 1,980/ 1,391,576
339( 1 |27 [10.EH%E FiE |12A58%EHER 3,104} 1,388,472
340 | 127 10E%E FE [12B8%7Luri 1,980/ 1,386,492
341 2 ‘26 10.8%8 FZ |1HApEHFEER 3,142} 1,383,350
342| 2| 26 [10EHR Fig [1ARSTLYM 1,980 1,381,370
243 3 26 oEEE FE |2 AmEsEEt 3,575| 1,377,795
344 | 3 |26 [10EHR FE |2B85TL9ki 1,980/ 1,375,815
345 | 4 | 26 [10.EHE FiE 4RaEREEt 1,502} 1,374,313
346 | 5 27 |10EERE FiE [sASEREER 1,502| 1,372,811
3471 6 26 10.E%E FE 6AHBEEEER 1,502 1,371,309
348 | 7 | 26 [10.EHE FE |[7AsEREER 1,502/ 1,369,807
349 | 8 ' 26|10 8B FE [sESETESER 1,502/ 1,368,305
350 | 9 26|10 EHE FE |oBsExEER 1,502/ 1,366,803
351 |10 28 |10.EHB FE 10BHEEEER 1,502| 1,365,301
352111 26 110.3B58 Fig MBrEEEEs 1,502} 1,363,799
353 | 12| 26 |10. 5% FE |[12B5EREER 1,502| 1,362,297
3B4| 1 27T |10.EBE FZ [1BSETESER 1,502| 1,360,795
355 2 | 26 |10EHE FE |2RSEEESR 1502/ 1,359,203
356 | 3 | 26 |10.B%E g |[sAsEEmEA 1502| 1,357,791
357| 5 | 7 |3k A | HEBREERH (RH6E3AS) 116,620| 1,241,171
358| SRS |RE 0| 1,241,171
359 3 10[8.EHEAE MR |#EK4 5, 8, 11, §H7E1, 284 11,500( 1,229,671
360| 3 12 |sEmEAE HE) [HMK (T A~257528%5) 15,150| 1,214,521
361

362

363

364

365

366
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